MORI' Yde Above. Beyond. Always.

MORryde International, Inc. 1966 Sterling Avenue, PO Box 579, Elkhart, Indiana 46515

(574) 293-1581 Fax: (574) 294-4936 www.MORryde.com

RUBBER PIN BOX PARTS LIST

ITEM QTY DESCRIPTION PART NUMBER
1 1 UPPER MOUNTING ASSEMBLY -
2 1 SHEAR SPRING RPB77-005-03, -04, -05, OR -06
3 4 5/16-18 BUTTONHEAD BOLT UO115-204
4 2 RUBBER COMPRESSION BUMPER RPB717-001
5 2 RETAINMENT ROD RPB712-008
6 8 7/16-14 FLANGE NUT UO116-039
7 4 ACCESS PLUG U0O136-181
8 1 LOWER SKID PAD ASSEMBLY RPB71-004
9 4 GLIDE PAD/DISC RPB710-005
10 2 5/16-18 T-NUT U0O136-238
" 4 1/4-20 SELF TAPPING SCREW UOo115-219
12 4 9/16-12 BOLT uons-173




